Electric Circuits

Class

A 10-ohm resistor and a 20-ohm resistor
are connected in series to a voltage
source. When the current through the
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What is the total resistance of the circuit
segment shown in the diagram below?

0o0mp

A 12.0-metervength of copper wire has a
resistance of 1.50 ohms. How long must
an aluminum wire with the same cross-

What is the total current in a circuit
consisting of six operating 100-watt lamps
connected in parallel to a 120-volt source?

e \

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

\

J

What is the resistance of each resistor?

A 200
B 401
C 802
D )

A 1O hgth pflwire'with/a crogs*

sectionate c 4 6. [0 % T0® square meter
has a resistance of 9.4 x 102 ohm at 20°
Celsius. The wire is most likely made of

A silver

B copper
C aluminum
D tungsten

current. The resistance of the heater is

A 0018Q —

B \@
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Apbential.dopl of 80 volts, s measured

across a 250-ohm resistor. What is the
power developed in the resistor?

A 020W
B 50W
C 10w
D 50W
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A 10-ohm resistor and a 20-ohm resistor
are connected in series to a voltage
source. When the current through the
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What is the total resistance of the circuit
segment shown in the diagram below?

0o0mp

A 12.0-metervength of copper wire has a
resistance of 1.50 ohms. How long must
an aluminum wire with the same cross-

What is the total current in a circuit
consisting of six operating 100-watt lamps
connected in parallel to a 120-volt source?
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What is the resistance of each resistor?

A 200 @
B 40

C 802
D )

A 1O hgth pflwire'with/a crogs*

sectionate c 4 6. [0 % T0® square meter

has a resistance of 9.4 x 102 ohm at 20°

Celsius. The wire is most likely made of @

A silver

B copper
C aluminum
D tungsten

current. The resistance of the heater is
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Apbential.dopl of 80 volts, s measured
across a 250-ohm resistor. What is the
power developed in the resistor?

A 0.20W @
B 50W
c 10w
D 50W
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